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 ٤J٥  א    ٥٠٠ ٢٣٠L٢٣٠٠ Kא
אאKא،אאאא٢٢٥٠אא٩}٤،

 א ٢٣٠٠ K אא א ٨٢٢٠א אא
א٩٤}٥א KאאאאK

א  Open circuit test: Vo=٢٣٠٠V  Io=٤}٩A    Po=٢٢٥٠W                                         
Short circuit test: Vsc=٥}٩٤V  Isc=Irated     Psc=٨٢٢٠W                                               
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As a result, we get Xeq=٣٩٨٤}٠Ω 
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